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AT 7,382,575 1,197,392 6,185,183
= 1,000,000
[ 20,600
[Ea 6,361,975
OlHXIEES TAIHE 7,007,224 945,221 6,152,003
= 1,000,000
= 20,600
T 6,076,624
228 TAlZc 6,487,874 519,462 5,968,412
= 1,000,000
[ 20,600
o 5,467,274
G.B22IXIZAAS 51,934 59,622 AT,688
101 e124d| 16,884 32,722 15,838
M ORINZZ2NSE S 16,884 32,722 A15,838
oY JI=E= B = 16,884
OoJlzs 78,8802 x 12 *125& 9,860
OFd=dg 78,8802 x1& x50 4,654
OuEH| 5,000 *1E»1252 625
@r==1:] 5,000 * 181252 625
OJE+¢ 720
o B 40,0003 * 1861 2 240
. &l 80,0002 «1H+6IH 480
Og&E=otdl 400,000 x1E*12] 400
201 Ler23 | 9,200 9,500 A300
01 At2t2lt] 9,200 9,500 2300
Oggt==H| 1,000
Oog ggd e 100,000 * 10 1,000
=PNE= 4,000
OEgAIE= EHEHl Sz
500,000 *x2CH*43] 4,000
O=gd? =23 U=y 2,700
ORiFSE 80,0002 0 *13] 720
Oetd gt 50,0002 0 *23] 900
OZI 40,0002 x0H *23] 720
O2Xt 20,0003 *9 »23] 360
O=gEe =R (22) 1= 900
Oootds 80,0003 x3E*13] 240
Oetd st 50,0002 x3E *23] 300
OZI 40,0002 x3E #2323 240
O2Xt 20,0003 x3& =22 120
O=gae =2 (LIIM) = 600
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OZI 40,0008 22| *23] 160
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22|04 4,200,000 4,200
204 ARt AH| 13,650 13,200 450
02 E3g =23l 13,650 13,200 450
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otHelgsHI (AR DIAI)
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405 KHakE SH 8,000 8,000
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A SAID
T OHRIER SADNE
o9l BN AR (cie) 29
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 190,000 69,400 120,600
ONLHERA XAAY ANES B2+
100,000,000 100,000
ORISR S BHEA K QHY 2tet &
N 50,000,000 50,000
OMLHBTH HIHE S 22 B
40,000,000 40,000
03 Al 2CHYI 1,440 600 840
ONLMERS XAAY ANES BRI+
N 00,000, 000240, % 900
OMLHIBT AHTEA L OHY 22HE &
A A2 =yl 50,000,000 *1.08% 540
U2s B2BE A 3,711,900 3,711,900
401 AIEHIZL SO 3,711,900 3,711,900
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OZAIHE JI== B IIE= 75 16,884
OoJlzs 78,8802 x1&*125& 9,860
OFd=dg 78,8802 x 13 x50 4,654
OuEH| 5,000 *1E»1252 625
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OEx¢ 720
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OZAIHEZE MM FT(ZF)
7,500,000 7,500
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O8E2 S84 MH 10,000,000 10,000
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